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Solve. (pg28) e 16

1) Anoil painting is 16 years older than, a yvatercolor
by the same artisty TheoilPainting ‘1.s also three times

older than the wateftolor. How old is each?
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3) Two numbers differ by 57. Their sum is 185. 11) The ,l_]gejght of thé‘ﬂ'agpole is three fourths thegheight of
Find the numbers. the schooly The difference in their heights.is 4.5m.

- What is the height of the school?
L Let x = whatever we know the least
Let x= Z_JJJ'“‘ 121 | oo v v Let xe figeh oF scae)
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Y +% -87 = 185
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